EARAROBEEIERT — 2 N— IBISH —F

20165F4H108 (B) 2E£R1H

mjt[@’;gg (HEDERIB1 —1 B #5%—f (w8 | mEmml - |5 5) o 8
[A&4£] 1% :350,000” ~ 23#%&:70,000”  33&:31,000 437 :24,000H . 5 7&:14,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o MAHIES] :33. -1-1- . — EERE (£R)
i lglg| LA b o4 s 1(3_3)6 4-1-1-1 | 40.7 1 (4_617) ﬂ%#)%il
L:TA=—T4FAF =% B:RU—-—LI—> NEF FA
s 4 9 | MEHKD 1:33.8 8-8-8-6 |40.0| — 4 490 | BRAE (£R)
o2 Fr—LFT1T 56.0 (1) s | GE) wrs
R:VIWN—Fv—L B:RY4—KIILT TERS
- S . 66 - LB (SR
3 4| B1FTET Y- 6 i 1(73?:? 7-6-6-3 | 40.1 7 ;4_848) it (
L:24¥v b BT E®IXATRA BR=tt EV M) —K—-XF>F
N Lk 5 | BHIEZ 1:34.1 2-5-5-2 | 40.5| — 3 464 | SAEELE (£R)
4B 3| TR K= " 56.0 (1 1/2) vy |BliES
L:TUN BT LART I~ pdczie]
) — o7 | KEH 1:34.2 9-9-9-8 |39.8| — 5 480 |&H—& (£R)
511 |BIvAT7IY 6.0 (172) o |
R:22—-)>r0-xX B:Oq4viyr—7 77— L4
o N FEEt :34. —7-6- . — aiEke (&R
6 6| 7HROL—> i 5 il 1 (314)4 6-7-6-5 | 40.8 6 (4+326) iy
R:T7ROAFLTEL B:32-TYyTIb—L BA KAl
3 s 4 g | HFAX 1:35.4 5-1-2-4 | 42.5| — 2 484 | £H—E (£R)
718lg| KA1 E> 56.0 (5) (-4) | FEFIBUE
LRZ R N=N— B:ia—x1)— R B
.= FRAHA : —1-2- — 2XRE (2R
gl5l5 15 v>Fv) — 4 4 aa (17.?.#7) 1-1-2-7 | 44.8 8 ;1:1‘3 .
Rix4avk-5— B:O-XI> Tzl rerae]
; N . # 5 | AR 1:38.2 2-1-4-9 | 45.1| — 9 435 | 1EEER (&R)
9717 IfM 21ty hT> 56.0 (2 1/2) -1 () RIRMS
L:T7NhtEy b BIAHA4T10 FIRMUS
® I—F—@EBIERL
|S=7r= 5,(3,7),9,8,6,4,2,1
23=7r= (5,7,8,9),3,4,6,2,1
3a—F— 9,(5,8),7,3,(4,6) ,2,1
43—+ — 9,3,4,8,6,2,5,1,7
[ RN
B 9 1704 794K 2-9 320M & 2-8 850 &R 2-4-9 3,630
# B 9 140 4-9 870M B 8-2 2,100M EE 9-2-4 10,760M
2 350/ 2-4 1,100H B = 2-9 790M
4 510M B H 9-2 1,200

ABICOVWTRDTEEERROODE. TR LIV,




